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Chapter 1 Study Guide
1-1 and 1-2

Use order of operations to simplify the expression. Show what you are doing to simplify step-
by-step.
1) 18—12 + 3 + 1(25)

1§-4 +1(25)
1% - U + w25

arr—

425

3D

2) (23+4)—-5+5+2(4)

m—

27-5=5+204)
27-1+8%
2l +8

D)

9+(4-3)
.C 3+4

ate - zL . 2137:(3)
7 7

3)

Evaluate the expression when a = 4 and b = 12. Show all work.
4) 7a+b—-(15-a)

7(u)+ (\2)- (15 -4)

28 +12- 1|
o — \|

1
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Evaluate the expression when ¢ = 6 and d = 7. Show all work.

5) 3c~:-g§<-4)
3¢ (d-4)
3(0) = (=4)
18—+ 3

©

1-3and 1-4

Find the solution or solutions for the given replacement set. (Plug each value from the
replacement set into the equation and see if it satisfies the number sentence). Show all work.

6) 58—3a=10 {16,17,18}
717 ar18
58-3(lk) 58 -3017) 58-3(15)

5g-4g=10, §SF-51=1 S58-54=¢y

7) 2x—15 =385 {17,18, 19}
XF 1T ¥=18 219 ne solution
n

261)=1.5 2U8)-15 214)-1.5 rep lacement
34-1.5=32.5 Bl —1.5=345% 28 -1.5 = 30\ Jet

8) 3<y<8 {set of whole numbers}

O LZ, «:,
e e
U
9 y—4<3 {1,2,3,4,5,6,7,8}
-
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Fill in the blank with every inequality symbol (<, >, <, =, or #) that satisfies the number
sentence. (Each problem will have multiple answers).

10) 71 70.99999

L

11513 +584] £ h593—4.78
eeed

L
10.97 I1s

12) 92.00192.001

13) 5.01 5.02 5.03

Graph the IM¢qualities ofia number line.

14) x<5
 pam— + =
o 1 2 3 4 5 4
15) 2<x<8
< L +—4 e f >
o y 2 3 4 § ¢ 7 § 9
1-5
\C\ Use inverse operations to solve each equation and inequality.
SHOW ALL YOURWORK. CHECKYOUR SOLUTION.
What art GRAPH INEQUALITIES ON A NUMBER LINE.
doin 16)  x—7.64 = 18.895 ‘/%__7_ LY = 18 395 24 .33 S
ol bo +7.64 + 1690 ' - 7.b40

0 2. 535 -7 Y= —
swles\"?jt .y ,L//X. g9 &

mc«a’/m-hhg/ — isolakt aijcbmu'c term
to solatt 17 [=2]-4=2

_m +4 +y
%-—-2.2 e (a B IZ‘.:'Z —q 3

Z =122 ‘D
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18)] 4x|+ 4 = 40
wtff (el

%9_“_3_@_ N Lm)cw.—-qo
y(a) +4
36 +Y = 4D

19 m+=5H+1 =12

e

m-=5 = 1| /m+5+l=lz
M+548 = JI-5 55—8 1

Gn =55 N+t =12
200447 > 12
P R

T=D

o

A

Il
I
l

N L
W -+
L -+
-+
e -
of =
.-1

211 5x]— 13 < 12
+13 +3

v

b
1-6 and 1-7
Write an expression, equation, or inequality for each word phrase or sentence.
mihis 22

22¢Twenty -two less thapra number x.

[ 2= 2_2.7

23) Ten more than the product of two and a number y.

) Cx)

EO + 2,3/7 4
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(x) &) &)

24) The product of a number m and seven is two more than p.

/7!44 _2,1-/0]

(-) =) @)

25) Nine less than x divided by four is Iess than twelve.

—<’ﬂ [(x-a)=4 < 12

1-8
Solve the following word problems.
26) A package of 4 toothbrushes costs $2.50. How much would 16 toothbrushes cost?

kKwwn: Y tothbrnses cos+ $2.50
Find : cost of 1o tootnbrusbey
selve: m""”’”"j te cost of ¢ tooth bruzbes

by 4. (4)(250)= 10 [16_tootnbrushes cosf

7) A pool is leaking at a rate of 2 gallons every 30 minutes. How many gallons will have I$ [0.00
leaked after 2.5 hours? —

Kmowh: A Ioooé Loy 2 ony of
warter vty 30 min.
F I'M[ How bt g ot avtll  Tru

pﬁwﬁ MF howrs. %sz,).a/f w member
gf WC’M Lort (h 30 min L;,y,s’,
2)(s) = 10

[m pool Loses /0 g 5




